RUVIEE
x £
/INk4
INR3(XFE)
1F | = 51
KUV ESAH
#H =2

— X3
RKx#EkmY
S L2

B L2
SIEIE
—XF2

RKIxFEIARY
Nk

S L1

B L1
R

Tae=F7LS(k

T

----

LT mh

‘emmm -

1000
77'
® ®
© ®
B 6990 B
- 9220 - EREY
§ 5380‘ 380
| ‘ 3385 3385
it f‘ "
180 14GT m ) m 1‘465
‘ | 430 &3k ‘
9960
EHp
-HaRN—H 30T7z—4—3E%
[E1R
HARULAY 1 F2 &OEK M f=eza7avesh6n
:Zi,-t\_a;kl) ig%ﬁ 0 mmoorarerao)
S = A—ARyavtok
-JAVk 24T 4@ B @ vAraub

AE—AH—artobk

@)

=y 24TA[E 38
Ja7arvtrh EF6EE TF6EEE FLAI4EE

WATIRAE ZERES TFER (VR—IL)

M0 10.0m E1T 7.0m 5 5.0m



